
 

 

2900 E. La Jolla Street, Anaheim, CA 92806     (714) 630-1821   Fax (714) 630-2980 

  
 
 
 

99-04, 5.4L, 2WD, Ford SVT Lightning 
97-03, 5.4L, 2WD, Ford F-150 

Part # 54150L Header 
 

Installation Instructions 
Hardware and Parts List 
(1)   Manifold gasket set 
(1)   Left side heat shield (Small) 
(1)   Right side heat shield (Large) 
(1)   E.G.R. Tube adapter  
(16) 8mm-1 ¼ x 30 Header bolts 
(1)   5/16-18 x ½” bolts 
(2)   3/8-16 x ¾” bolts  
(4)   3/8-16 x 2 ½” bolts 
(6)   3/8” Flat Washers 
(6)   3/8” Flange nuts 
(4)   Nylon Wire ties 
(1)   Tube of Bassani Anti-seize jet lube 
 

Installation Instructions 
1. Raise and support the vehicle. 
2. Remove the front wheels and inner fender splash liners. (See photo 1) 
3. Remove driver and passenger side factory equipped exhaust manifolds. (See photos 2 & 3) 
4. Remove E.G.R. tube from engine and set aside. (See photo 4) 
5. Remove oil dipstick tube. (See photo 5) 
6. Remove exhaust manifold mounting studs from engine. (See photo 6 &7) 
7. Cut-down passenger side upper shock bolt. (See photo 8) 
8. Using supplied 8mm header bolts install exhaust gaskets to cylinder heads.  Install bolts in lower holes only, leaving 

approximately ½” of threads exposed between the cylinder heads and the bolt heads. (See photo 9) 
9. Install the right side Bassani header through the fender opening.  Guide the lower slotted holes of the header flange over the 

previously installed 8mm header bolts. (See photo 10) 
10. Install the upper row of 8mm header bolts at this time. 
11. Torque bolts evenly to approximately 25 ft. lbs. 
12. Remove left side motor mount thru-bolt. (See photo 11) 
13. Lower left side factory exhaust pipe by: 

F-150  - Loosening the u-bolt clamp at the rear of the pipe. 
  Rotate the pipe towards the ground. (See photo 12) 
  SVT Lightning  - Remove pipe from factory muffler and hangers. 
  Lower pipe towards the ground. 

14. Lift left side of engine by jacking underneath the left side of the transmission bell housing. 
(See photo 13) 

15. With the engine lifted, install the left side header through the fender opening. (See photo 14) 
16. Before attempting to bolt up the header, lower the engine back to it’s original position.   

Re-Install and torque motor mount thru-bolt at this time. (See photo 15) 
17. Position the left side header over the exposed threads of the previously installed 8mm header bolts. 
18. Install upper 8mm header bolts. 
19. Torque bolts evenly to 25 ft. lbs. 
20. Using supplied hardware, re-install left and right side factory exhaust pipes at this time. (See photo 16) 
21. Re-Install the oil dipstick tube. 
22. Re-Install the E.G.R. A slight bend may be needed on either end of the tube to facilitate installation. (See photos 17 and 18) 
Note:  Early model F-150’s will not require use of the supplied E.G.R. tube adapter. 
23. Install the small heat shield on the drivers side header pipe using the supplied 5/16”-18 bolt.  

(See photo 19) 
24. Check for proper clearance between header and break line.  Adjust if needed. (See photo 20) 
25. Install large heat shield on the passenger side upper control arm brackets using the supplied hardware. (See photo 21) 
26. Re-install left and right side inner fender splash shields.  Pay attention to the routing of the ABS wiring, etc.  Use supplied wire 

ties to tie up any loose wiring. (See photo 22) 
27. Re-Install and torque front wheels. 
28. Lower vehicle. Your installation is now complete. 

 



 

 

2900 E. La Jolla Street, Anaheim, CA 92806     (714) 630-1821   Fax (714) 630-2980 

 
 
 
Reference Photos 
 

               Page 2 
 
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 

 

2900 E. La Jolla Street, Anaheim, CA 92806     (714) 630-1821   Fax (714) 630-2980 

 
 
 
54150L Header Instructions Cont. 

              Page 3 
 
 
 
 
 
 
 


